(Ml 2cnaty e e ATm‘io/’cg, H0/79/17-
1> (& T+ W>R
%N> B it:f‘ GAe dom w1 Teli s

7€(037Lt {(D=2 4(2):3
>
(L)> i N“BN 4((%)>2~m~3> 0\/@



(w) = 4 +
N N gl
<y 4

(V\Z\_\ *4—#\(9/%@)4?
r > N\/f/\

/N F N

I
= A +m-4 =m

3; YA N e o << YL
‘ "N ?(0\
@) HN>

T’ /M —> @(%Q,L—c‘to

('\

;‘)‘@éc'w&o



i(«ﬁrz 1(731% A(2)= &
=
AY 4 N olfelrt.
fp(/v\): N ke do on g dbra

:ﬁ(o\>> o %(z!) &0






(1)

X

—
—

PO,P&'&Z%%QM L,bvov'éb

jr;XV)X 4((1\:f£)0&x4(~)«¢ Ao o



(4)

Ded.

)< = /ég %Sola \(J\a&am ‘
1(><%>< #(fz): Jo  wadiedh =

N




(3-1)(= = a(#))

(2 a) 1 Rk 4 (=) 2l
5/@—3@ S(x)= 2"

(§-%)(-8) = j(:fi(——@) =4(-2)- 4
(o3 JER)= £(8(N=4(6L)= 4



(2b) A A/ =
¢ W=

Fm+ 3R

j(/\ﬂ; 2m -5
g () =[]
(3-£)(4)= 9 [#)=3(ZL)- 1o
Geo)l) = ) -4 = 5




/4) :D(M /M # e \(u:\(\t({\:& / DMJ{H}‘\;Q) Eidwjrhuz_
“f | X->\(
P/M/so 3€Y L &@\A@Jo §W¢ 966%
69\&7(0@ ‘&(\ %/2):(7 1

—» S&MUDV\ @’g UWOSh e WUo <i€ ;%M%\)QB
—> Laupy o aags (£ 'i‘!ﬂﬂ&%@)



(£ bipote)

OQM/TQ Lo
ﬁal\!\\>2m

(&) A4 KK

MO A :mf :

/iw(eu\'\m
S

Ce )

>
Nl
mZ~

N S
< 20

O~|va



A0 LU Z%\\/L

D)t Z;SI\/Q

=1 BN
& =3 K
URRAR!
3 b —U




C O

N>

()

< = M
=
q — O
e —> -
W/
ET\V@\ N
_S_I,«,.:/\, \
<
S TS
_ A
gﬁrlk/\a HW
N> O W
— i O M
o > O



() 1 - R=R 1(%\*392-?

Dals %Q'R a0 Al ours :((%5’% Chog
2 —7\:% ' soll2, unce o =
J)\‘Gu"fﬁva-
W) 4 R>R () = o
jﬁ(‘l\ij %gs‘j/







A <o pev <——3/44 fod s b Lol sedlls]

A = O F& g = L ﬁ/éf -2 méua—

>0 Pt g(>—_9/4 e slinr
/CJ'SM/. e ALY e

1 am#o—o L % FHx+ [0 < =
FQ’@M VeS o €(OZJV~ J_ \/\e'nl’cp






XU — |
XA

(k) %TR%R fE(oQ:
/(Q\‘So(\/('@duo ‘i(%):‘%

v
2 - = g)'xz"%'“%%(:‘o

A= A-4alye) = 4 -ny-t,4"



U
U 4 R=B A=

(o]

y =0 bolur. Wiie | x = O

ﬁ>o A e\l solbyown Ao X >0 . CCW‘MOA Q



X >0

N

1-4

S s %f { A = X:(-F’D(ﬁ/ X = a
%4+%
N> O S
N\
A0 30642_/% y*:i
O MNESSuwo Solud- P G=A
d o<y <
AN IR @oé X = _ P(/\ Lj



/ﬂ<0 M{/’ '-

Y. /L)yd-( /Sa ’“/<j<0
MesSSwn e /é& yfﬁ{

7\/( () Kl@ Ut bt 75(» M’</l
O‘\/GQQ'. %OC “3 Messpune ]30\ {(Z](ZC(»

/‘W‘g %\VQ UO U 4{4/0 :



A D% x> o
(o) { R=K 4/(?65 g

2U - A F/A q < O
2
‘Y (A.Q}/"\LQ S‘oa«d‘ ﬁ/‘(’ ( NI
L ) - 27




ngn Jaighie

&







(<) @q) = [W*EZ/ | 24 2

o) layer 1o oo
:ﬁ(QCBT- [5~7C)—=/2’f2):?7?7( Ffm o< x< A

—

(7“5>—<0<+2):~? SN x 7D









1) >< 5014234£
JwaX “((W\ wile dlla div (%275

| , ) I I ” (0,0 (0)}
)</ 2, A ) 2, 4 )<X></%(IO (ll) %

& 0) (21_.J



f('){\1 Yt fomfrg






